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I Source for requirement of NnWY - meaning 127pN DYY (VNP M)
a nomw: v. 1 (from the use of DY w/o "nar” in vv. 2, 3 = nar is extra = nm>ar must be done DNYY DWVWY)
i Question: what is the source for requirement of nnw5 in other mmay?
1 Proposal: infer from no'nw
(a) Rejection: nvonw has a unique XN — it (alone) can invalidate noa if it is slaughtered for invalid eaters
2 Answer: v. 2 (which refers to 010 nYap)
(a) Challenge: why not just indicate in re: D70 n%1p and infer NY'NY (more severe, as above) from it?
(b) Answer:nTn nYap has its own XM relative to nv'nw — it is invalid if done by nwx or
ii  Question: what is the source for requirement of nnw% for nTn Np»1?
1 Proposal: infer from nap nonw
(a) Rejection: both nYap1 NY'NY must be done (in case of 7p7p) on north side of N1y and both apply to
nynpna mron (whose o7 is brought into the w1pn, and none is sprinkled on n%wn nam)
2 Answer: v. 3 — the np»t must be Dnbw DwH
(a) Challenge: why not just explicate in re: np»r and infer the others from there
(b) Answer: np>ar has its own unique XN relative to others — a non-jn3 is nnn 2»n for NP
iii Question: what is the source for the requirement of nnwY for oTn NI%NN
1 Proposal: infer from others
(a) Rejection: all of the others are indispensible; n2910 could theoretically be bypassed
2 Answer: v. 4 is understood to refer to D™aR navn; v. 5 uses same word to indicate that na%n is subset of nYap
I Source for requirement of NnWY for owner/donor oY1 DwWH (WHYa M)
a  NR’IT M2 oMo " v. 6 — implies NnwY; wNp M already covered; apply to mYya mw
i Challenge: v. 6 needed to indicate that nn is subset of D’n%w, not vice-versa (for vy M)
ii ~ Answer: this inference is from "nar”
1 Challenge: that is also needed to extend rule of eating for 1day-+night to Dwxy nxon
2 Answer: if it were only implying nwx1 nron, would've placed nar before 53x; this placement = n’ya mw
b Question: what is source for proper 0’9»1 oW for other mmay
i Proposal: infer from nonw
1 Rejection: as above, nonw has its own unique XN regarding noaa YY2IRY RHW VNV
ii ~ Rather: infer entire system from wmp "Mmw, where all mmay are equal (no VTP MVY)
1 Challenge: wnp "v is (1) 1912 %109, applies (2) to all 4 mmay, (3) after death of donor, (4) to Max 127p
(a) Interjection: 2 of these are not clearly distinctions:
(i) #I:vwp MW is no more a1 than wHya M
(i1) #3: mr 97 2 oma 1 (ahead, :1), holds that nrm anrY oYya v
¢ JwN "1 v.7 —vYY and not on another (D%ya Mw)
i Challenge: this phrase teaches the difference between 97 (nynR — "%p”) — and nam (no NINKR)
1 Answer: inference is from "%”
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d  Question: what is the soure for n'Yya owb for nav»m nYap?
i Proposal: infer from np>an nmoar
1 Block: these two have a shared unique ®mn — there is liability for only these two yina
ii ~ Answer (»wx 77): v. 8 — all of the mmay of the (Dn5w) 711 'R must be done DnYwY DV
1  And: we already know w1p ™mw, must apply to mHya mw
2 Challenge (Nax 72 81X 77): why not read v. 8 as V191 Y9
(@) 5o oy
(b) vI2 NIAT
(i) v191 553 we only include the detail — nmar and no other nmay
3 Answer (837): since the order is YW nar nw, the Y93 is incomplete (we don’t know what he is to “do”)
(a) And:we don’t read an incomplete 553 as 593 for purposes of V11 953
4 Alternate (x¥2237): even if we allow for incomplete 993,
(a) Nonetheless: 'n9 at end makes for a second 993 25931 V191 593, we follow the lead of the v1a to deter-
mine inclusion
(b) Challenge (219270 81K 77): 1st 993 and 2nd 593 are dissimilar:
(i) It only includes nywy (narn mmay)
(ii) 27d:'n% —includes any offering to 'n — even disposing of P1nR
(c) Defense: > »a1 Rin allows for such 0593 to be joined for purposes of 9521 V191 95>
(i) Exegesis: just as (nm’ar) V19 is N2y and requires NNWY, so all MMy require NHY?
1. Block: 019 is unique in that there is liability for doing it yina
a.  Therefore: only np»an nonw included
2. Or: v1a is unique in that it must be done on north side
a.  Therefore: only nvapy nvonw included
3. Conclusion: since neither approach is stronger than the other, we include all
a.  Or:we infer np>»at per YOR "1 above; V191 592 is left for nYap (which includes n2%n)
iii  Question: inference from 711 %X — what about other nmbw?
1 Proposal: infer from 11 'n5w
(a) Block: 911 9% comes with other m17p
(b) Answer; wording of v. 8 (could have said "m5w, use of D’nYw) implies application to all mnHw
iv. Question: we've applied it to 0'n%w, how do we apply o*%va mw to all wTp?
1 Proposal: infer from on%w
(a) Block: mn5w are unique; they require o> n>no & 0V & MW NN NAIN
2 Answer:v. 9 aligns all n17p with 5w
(a) Just as: 5w require NNWY, both re: w1p and re: wHya
(b) So too: all miavp require NnWY, whether for v1p or hYya
(i) Proposed implication: if slaughtered incorrectly, they should be invalid
(ii) Answer: v. 10 turns 971 into NaT
1. Meaning: if done correctly, brought as 9m; if not ("nw% X5v), becomes (valid) naT
(c) Justification: need for both vv. 9 and 10
(i) If: we only had v. 10, we wouldn’t know the context (jAw% ,n1121p)> we need v. 9
(ii) And if: we only had v. 9, we would think they are invalid if not offered properly - v. 10
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